2

L4

L

{3 SECONDARY MATHI // MODULE S

0 SYSTEMS-54 5"1
READY, SET, GO! Name Period Date
() RrEaADY

)
O Topic: Solving system of equations by graphing.

» Substitute the given points into both equations to determine which ordered pair satisfies the
§ system of linear equations. Graph both equations and label the point of intersection to verify the
O solution.

{) 1. y=3x~2andy= x
. a. (0,-2) LSRRI .
O b. (2.2)

0 oD
N
¢)
L §

2y=2x+3andy= x+5

g 8w
T By

O e

O Solve the following systems by graphing. Check the solution by evaluating both equations at the
- peint of intersection,
O Jy=x+3andy=-2x+

4, y=3x~8Bondy=—x

[P

et
i
i

3
0O
D
D
0
0 - 2Rk
 § B RS Rl S
) Check: 3=0+3
3 3=3 /

3=-2(00+3
| &) 3=3 v

| B

Iy ©2016 Mathematics Vision Project

.. All Rights Reserved for the Additions and Enhancements uv- .
§)  mathematicsvisionprojectorg M mathematics

D vision project




SECONDARY MATHI // MODULE S
SYSTEMS-5.1 5.1

SET

Topic: Determining possible solutions to inequalities

5. A theater wants to take in at least $2000 for the matinee. Children’s tickets cost $5 each and adult
tickets cost $10 each, The theater can seat up to 350 people. Find five combinations of children
and adult tickets that will make the $2000 goal. Answers will vary. Examples:

| Children | Adults | Total | Revenue Children | Adults | Tetal | Revenue
0o 350 | 350 | $3500 50 200 250 $2250
50 300 350 | $3250 200 150 350 $2500
100 200 300 | $2500 3508 g 550 $1750

6. The Utah Jazz scored 102 points in a recent game, The team scored some 3-point shots, 2-paint
shots, and many free throws worth 1-point each, Find five combinations of baskets that would

add up to 102 points.

L

7. Use as many of the following shapes in any combination as you need to try to fill in as much of the
12 by 12 grid as you can. You may rotate or reflect a shape if it helps. Write your answer
showing how many of each shape you used using the letters that identify shape.

Example: 3a,5b, 10c, 24, 6e

Answers will vary. Example: 12a, 6b, 3¢, 3d, 12e

£ 2016 Mathematics Vision Project -
All Rights Reserved for the Additions end Enhancaments “ _ . )
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O
@ GO
0 Topic: Graphing linear equations and determining if a given value is a solution, arithmetic sequences
O Graph each equation below; then determine if the point (3,5) is a solation to the equation.
O Find two points other than (3,5) that are solutions to the eguation, Show these points on the
) graph.
8
() ‘8.y=2x—1 9 y:%x-{-z
O e No
f;) Answer: Answer;
) Possible Possible
O points, points.
- (6,4), (3,3), N
O E
)
)
O
O 10. y = —3x 45 =3
© 0.y=-3x+ 1. y=Zx+4
) o No
- nswer: Answer:
© A
€) Possible Possible
€ . points..... . . . points, ...
N (-5,7), (0,4),
:} (6,1)...
)
)
) The tables below represent different avithmetic sequences. Fill in the missing numbers,
Then write the explicit equation for each,
[__) 12|
0 term (%) r 3 4
: value (y} [ _ -

1—
L
0  Equation:  sempmeeisestiasighte

)
()
(» © 2016 Mathematics Vision Project L
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SYSTEMS=51 51
termx) | 1 | 2 3 1 4 [ s &1 7 &1 9 [ 201142113
teemy}{ 17 [ 15 | 13 {11 [ 9 [ v [ 6 [ 3 [ 1 [ -+ ]| -3[-51{-%
Equation: Answer: f(x) =-2x+ 19

3
14, | \
term (%} 1 2 3 4. 5 6. 7
value v) | P (2 [ ] ] B | gt | e

Equation:  Answer: estyiiianel

1S. Each of the sequences above begins and ends with the same number, Would the graph of each
sequence represent the same line? Justify your thinking,

Answer: No. They would not be the same graph because each equation has a
different slope and y-intercept.

16. Ifyou graphed each of these sequences and made them continuous by connecting each point,
where would they Intersect?

W
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READY, SET, GO! SN Period Date

READY

Topic: Determining if given values are solutions te a two variable equation.
Identify which of the given points are sclutions to the following linear equations.

1. 3x+2y=12 2.5¢-y=10 3. -x+6y=10
a. (2,4)
b. (3,2)

Find the value that will make each ordered pair be a solution to the given equation,

4. x+y=6 5.2x+4y =8 6.3x—y=8
a (2, 1)
b. (0, 2}
e (4.0

SET
Topic: Graphing linear inequalities

Graph the following inequalities on the coordinate plane. Name one point that is a solution to
the inequality and one point that is not a snlution. Show algebraically and graphically thatyour
points are correct, o _ » _
Chosen points wit vary.  Hr+tHr141 . _
7. y£3x+4 B y<T7x—2
Answer: 20 . Answaer:
(1,1) is a solution 1=
1£3(1)+4
157 True
{-3,0) not a solution
-3 w12 + 4
—3 <—B False

_'DL'.IDL.JL. B0 JL..L'.!SUE': L

9, y>Ex+2

Answear?
(0:3) Isg:solution SRR TN
3 >d5_(0) +2 :SSSEEE&E !:if:itlcrgdt:ni:
352 True garu‘ a3 1:nu=q;;*;;r-mmu-:-
{9.0) not a solution
0> —(0) +2
o> 2 False

G 201¢ Mathematics Vision Project
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SECONDARY MATHI // MODULES
SYSTEMS =52 52

GO

Topic: Solving inequalities

Follow the directions for each problem below. (Show your work!)
11. 10—-3x <28 "

a) Solve for x, Then graph the solution on the numberline. Answer: x> —6

'i-io"""-—"s""'{,"'é"'“To""fs""z'r'
b) Select an x-value from your graph of the solution of the inequality. Replace x in the original
inequality 10 -~ 3x <. 28 with your chosen value. Does the inequality hold true?
Answer: x=1, 10-3{(1)<28, 7<28 The lneguality holds true.

c) Selectan x-value that is outside of the solution set on your graph, Replace x in the original

inequality 10 — 3x < 28 with your chosen value, Does:the inequality still hold true?
Answer; x =~—10, 10-3(-10)<28, 40* 28 Theinequalityis false..

12, 4x—2y 26

a} Solvefory.,  Answer: gt =

b) Rewrite your inequality as an equation. In other words,
your solution will say y =, instead of y 3z ory .
When you use the equal sign, the expression represents

the equation of a line. Answer: ot
c} Graph the line that goes with your equation.
d} Name the y-intercept, Answer: (R
e) Identify theslope, Answer: s é
) SEI6Et & oIt that 1§ above the line. () Answeriefgd " ¢ ”
g) Replace the x-value and y-value of your chosen point in the inequality Gijiagage
h) 1s the inequality still true? Answer: W - Answer: r
i) Selecta pointthatis belowthellne. [ , ) Answer:-‘
j) Replace the x-value and y-value of your chosen point in the inequality 4x — 2y iﬁs wer
k) Is the inequality still true? ~ Answer: St v

1) Explain which side of the line should be shaded. 5 pcwer: m

m) Decide whether the line should be solid or dotted. Justify your decision.

Answer: iSO Rtget s cainiliggdagetrio

e da b s s, o Bl s el 7T
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0 SECONDARYMATHI // MODULES
o) SYSTEMS=-53 5-3
8 READY, SET, GO! Name Period Date
¢}  ReADY
€)
' Topic: Determining points that are solutions to a system of equations,
Ly Three points are given. Each pointis a solution to at least one of the equations. Justone point
) satisfies both equations. (This is the solution to the system!) Find and justify which pointisa
solution to both equations. Also justify w points are not solutions.
O Lesti both i )so justify which poi luti
Justification (not "
) 1. 177 2x—3 a solution}: 2, {;’ =3x+3
€} Justification =-x+3 A g b 5(7'2) -3
{solution) . {~2,5 o

O 51o2m - 2 £2.5) S=ct=243
¢ 1=1 - 5 = 2(4) -3

P J=l@)+3 — ¢ S2I®
€2 1=1 ¢ (4.9 5=—(4)+3
O 5 -1
) g, [y Justification (not a
) = —4x 6  solution):

: a, 2=2
€ Justification a 7.2) 2==(N-6
() lolton) N I b (2,-14) 3. 3

3 G (-2.2) -
f} 2= —4(-2)—6 b, —14 % 2

. z=2 —14 =—4(2) ~6
€) ~14 % —14
¢ SET
) Topic: Graphing linear equations written in standardferm =~~~
£ Graph the following equations by finding the x-int the y-intercept.
:j 5 5x—2y=10 6. 3x-6y=24
(;) x-intercept: (2,0) y-intercept: (0,~5) -intercept: y-intercept: ‘
- : 1 111
¢
L)
)
O
O
) C
{) 92015 Mathematics Vision Project _
Al Rights Reserved for the Additions and Enhancements & & )
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SECONDARY MATH! // MODULE 5

SYSTEMS-53 5-3
7. 6x+ 2y =18 8 -2x+7y=-14 .
x-intercept: (3,0) y-intercept: (0,9) x-intercept: ’ y-intercept: ’
' |
1
GO

Topic: Adding and multiplying fractions

Add. Reduce your answers but leave as improper fractions where applicable.

31 3 7 21 4 B
. —t— 10, —a4— 1. —-— 12, =4+—
? 4 8 5 10 3 4 7 21
Answer: % Answer:‘ Answer: i—% Answer:’

Multiply. Reduce your answers but leave as improper fractions where applicable,

32 4.7 52 3 8
13. %3 14. ;X'l—d 15, %5 16.-7--)<21
Answer: -:— Answer:‘ Answer: % | Answer:‘

& 2016 Mathematics Vision Project e
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SECONDARY MATH I // MODULE 5

SYSTEMS - 5.4 | 5.4
READY, SET, GO! Name Period Date

<y READY

O

Topic: Writing linear equations in standard form and slope-intercept form.

£) Rewrite the given equation so that they are in slope-intercept form. (y = mx + b)

:3 1 7x =14y = —56 2. -8x—~-2y=6 3. 15x+9y =45

‘) Answer: y = %x +4 Answer: it Answer: tg ....g. *+5
Rewrite the given equations so that they are in standard form, -

& .

f;’) (Ax + By = C, where A, B, and C are whole numbers and A is positive,)

O 4 y=7x-3 S, y=2x+9 6.y= —4x~-11

O Answer: w Answer: 2x —y = ~9 Answer; m

)
1 3 1 2

€ 7. y=3;x+8 8.y=;x-2 9.y=—Ex+-§

() Answer: x -2y = —16 Answer; m Answer: x+6y =4

)

() SET

) Topic: Writing inequalities from a real world problem. Graphing inequalities.

€ 10. Ona final for a creative writing course, Ben was required to write a combination of at least 1¢

) poems or paragraphs. Ben knew that each poem would take him 30 minutes to write while a
paragraph would only take 10 minutes. Ben was given two hours to complete the exam.

)

& | E WIS T Ifequality to model each constraint (Hifit: Ofie Constraint 15 tifa and the otheris ~
the number of needed items. Let x be the number of poems written and y be the number of

)

O paragraphs written.)

Cy b. G}'g?h ggchlipequalrigy on a separate coordinate grid and shade the solution set for each.

‘) ; 1 X -l ] T

O Answer: cos

-

EEENENEREE
111 NN

Eula

A

HE:

i
L

£
&
=]
]
&
E

8]
Ld

¢}
u
|
|
u
|
|
]
|

= JL] ; e . T " T i P i B
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SECONDARY MATHI1 // MODULES
SYSTEMS - 5.4

GO
Tapic: Substituting a value to check if it's a solution

Determine whether h '=:3 is a solution to each praoblem.

11 3(h=4)=-3 12, 3h=2(+2)~1
Answer: Yes Answer: ¢l
13. 2h=3=h+6 14, 3h > ~3
Answer: No Answer: iig#
3 1 3 1
15. ',?th'-s- 16, 'g":'h)(-s-
Answer: Yes Answer: g

Determine the value of x that makes each eguation true.

17, 4x-2=8 18. 3(x+5)=20
Answer: x-i"=\§ Answer: ‘
19, 2x+3=2x-5 20. 4(6x=1)=3(8x+5)~19

Answer: No solutions Answer: m

‘8 2016 Mathematics Vision Project o — i
All Rights Reserved for the Additions and Enhancements .
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SECONDARY MATHI /f MODULE S 5 5
SYSTEMS =55 | o | .
Name Period Date
READY

Topie: Graphing two variable inequalities.

For each inequality and graph, pick a point and use it to determine which half-plane should be
shaded; then shade the correct half-plane,

0 3.5x=2y<10

- E;"‘f
, b R 47 [ ]
© 2016 Mathematics Vision Project
Al Rights Reserved for the Additians and Enhancemerits u ,
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SET
Topic: Writing two variable inequalities

Use the graph to write the inequality that represents the shaded region.

5. 6.
EINCE RN W 4
¥ lJ. yyb
_ 'z
i i 7
I3 MEREEE £ AR 10
i ) WG | [ 1 ] S (A
] Faat 5 £
B[
3 WA A G . BRI -] rdEad 63 O
B CHRE . s EARLEI) A CIE G R :
FEILH FAFI AL P kLI N i
TRILE 3 b s Gy |
CE WA 5k 0 i IER o = '“SM_.' :
e s o O g oy 3] LS LT IS0
ERETE s w, TR - q g EERE E gj ""ml_f 1 "
BB bR 787 E wia[] 2 LAIESC E N A N T N 3 W
Answer: y < —x+7 Answer: gl
7. B.
. ”‘.--g'x i [ TMTRER TSR
Tl . 3 ML S
T m] N
X " a7
-
A 1 -
i) ' i 1 e
TIL -
: L]

Answer: y < 2x+10 Answer:*
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Al Rights Reserved for thié Additions and Enhancements uv- ,

mathematicsvisionproject.org _ BEm athematlcs
vision project



SECONDARY MATHI // MODULE S
SYSTEMGS« 5.5 5.5

GO
Topic: Proportional relationships

For each proportional relationship below, one representation is provided. Create the remaining
representations and explain any connections you notice between representations.

9. Equation: (iraph ]

Answer: y = 8x

Table
)

»
]

Days Cost

1 8
16

24 1
32

o
@

B W N

Create a context
Answers will vary. Example: It costs

$8 per day for Annie to attend

10, Equation: Graph

Answer: i

Table

Answer:

Create a context p

i o )

© 2016 Mathematics Vision Project
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11. Equation:y = 3x Graph
Table
Answer:
Day Meals 15 ot
- 9 .
1 3 i 9, a1 B -
6{~i-@
2 il -
3 ? N R )
4 12 ”
5 15 ‘ ; ?
Create a Context
Answers will vary. Example: :
1eat 3 meals per day.
12. Equation; Graph

Answer: sussgiiiiih

All Rights Reserved for the Additions and Enhancements
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SECONDARY MATHI // MODULE5
seTEMs-56 5.6

READY, SET, GO! g iAW Period Date

READY

Topic: Using substitution to find a missing value.

Substitute the given value of x into the equation to find the value of y.

1 Sx=9y=73;x=2 2. -4x+9y=16;x=5 3. 3x-8y=Lx==5
Answer: y= -7 Answer: g Answer: y = -2
4 —lx+5y=5Lx=1 5 9x~7y=2Lx=0 6. 12x_1.5y=_42;x=i
Answer: gl Answer: y = —3 Answer, g
Use the given value to find the value of the other variable that is not provided.
7. 5a+2b = --37 B. 13f—-7g=10 9. 2m + 3z = 22
b=-1 z=-0

Answer: a =-7

SET
Topic: Examining the impact of the direction of the inequality symbol

oy

10, Graphy > %x —2andy < %x +3on
the grid at the right.
11, Whatis the relationship between the

two lines in your graph?
e e 2 ANGWERL. They.are parallel. ... ...

12. Name 3 points that satisfy both

inequalities,

13. Now, graphy < fix =2andy > %x +3
on the next grid at the right.

14. Can you name 3 points that satisfy both
inequalities for this system? Answer:

15. Compare the graph for problem 10 with the graph for preblem 13,
How are they the same?
Answer: They have the same boundaries
How are they different?
Answer: They are shaded in the opposite direction
so one has infinite solutions and the other has none.

©.2016 Mathematics Vision Project
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SYSTEMS-556 5'6

GO
Topic: Graphing linear inequalities

Graph each inequality.

16. y € 3x =4 18; y>4x—3

21, Sx + 3y < 15

£: 2016 Mathernatics Vision Project
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SYSTEMS-57

READY, SET, GO!

READY

Topic: Pythagorean theorem

- Name -

57

7 Datef_;.

An easy way ta check if a triangie contains a 90%angle (also called a right triangle) is to use the
Pythagorean theorern. You may remember the theorem as a® + % = c?, where ¢ is the length of the
longest side (the hypotenuse) and a and b are the lengths of the two shorter sides.

Identify which lengths make a right triangle, Example: Given 5, 12, 13

Replace a, b, and ¢ with the numbers (52 + 122 = 132) -

(25 + 144 = 169) — (169 = 169)

Since 169'= 169, a triangle with side lengths of 5, 12, and 13 must be a right triangle.

Do these numbers represent the sides of a right triangle? Write YES in the boxes that apply.

In this problem, substitute (x + 1) in place of
-y in'the second equation, -

9 {y x+1
x+2y=8

Answer: {2,3)

_ x=9-2y
. {3x+5y=20

Answer: (-5,7)

Check:
3=2+1
3=3
2+2(3)=8
8=8
Check:
~5=9-2(7)
~5=-5
3(-5)+5{(7) =20
—-15435=20
20 =20

£ 2016 Mathematics Vision Profect
All Rights Reserved for the Additions and Enhancements
mathematicsvisionprofect.org

1. 9,40, 41 2. 3,45 3. 6,7,8 4 20,21, 29

Yes - No L
5. 9,12,15 6. 10,11,15 7. 6,8,10 v 8. 8,15,17

es

Yes w
SET
Topic: Solving systems of equations using substitution.
Solve each system of equations using substitution. Check your solution in both equations.

In this problem, suhstitute (3 + y) in place of

10 {y+2x 7 Check:

x=3+y

Answer: ‘

y=2x—4
iz {By +2ix =15

Check:

Answer: * %

u'?r:hathematics

vision project



SECONDARY MATH I // MODULES

SYSTEMS ~5.7
B o Check:
3==1w2(=2)
Answer: (3,-2) 3=3
3(3)+5(-2)=-1
9-10=-1
-] =~1

5.7

15. Tickets to a concert cost $10 in advance and $15 at the door. 1f 120 tickets were sold for a total
of $1390, how many of the tickets were purchased in advance?

Answer: 82 advance tickets

GO

Topic: Solving one variable inequalities

Solve the following inequalities. Write the solution set in interval notation and graph the

solution set on a number line.
16, 4x+10<2x+ 14

17. 2x+6>55=-5x -
Answersx > 7, (7,)

18. 2(343) > 6(x - 1)

Answer
19, 9x + 4 < —Z(x + = ) - 473 ‘!' 3 10
Answer: xS5% (-0, ?

Solve each lnequallty Give the solution in set builder notation (e.e. {x € Rlx < 2]).

x 10
20. -3 > iy
Answer:m
X . 5
22. : > p

24, 2x<7x—36

Answer:”“

£ 2016 Mathematics Vision Project
All Rights Reserved for the Additions and Enhancements
mathematicsvisionproject.org

21, Sx>8Bx+27
Answer: ¥ < —9, {x € Rjx < —9}
23, 3x=723(x~7)
Answer: {x € R}

25, 5—-x<9+x
Answer: x> ~2, {x€R|x> -2}
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SYSTEMS -5.8 5.8
READY, 5ET, GO! Name Period Date
READY
Topic: Transformations
Each set of pictures below shows a transformation from a “pre-image”to an “image.” The word
transformation in mathematics refers to how a figure can be moved. You might know transformations
as "slide, Aip, or turn” or by their formal names. ldentify the transformation between the two figures by
writing sfide, flip, or turn next to the pair of images,
1 3. :
w_ [
@ Answer: Turn
4. 6.
Answer; Slide
SET ot . . . . . . o . .
Topic: Using equivalenceé to solve systems of equations "} Physies Day Rides ™™
Rollercoaster v v ¢
7. Mike and Gavin visited the amusement park with their science class Jyd
on a school physics day. Their tickets were stamped each time they Gravity free-fall
went on a ride. Mike and Gavin spent the entire afternoon going on Toral $36.00
their two favorite rides, the Rollercoaster and the Gravity free-fall, iy el
At the end of the day their tickets were stamped as shown. Mike's tickat
What was the cost to ride on the Rollercoaster?
Answer: $6.50 Physies Day Rides
What was the cost to ride on the Gravity free-fall? Rollercoasier
Answer: $5.50 Graviyfreefill
Total $29.50
Gavin's ticket
. #2016 Mathématics Vision Project —
All Rights Reserved for the'Additions and Enhancements uv. .
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8. Mallory and Meg also attended the physics day with their school. Their favorite rides were
Splash Mountain and the Centrifugal Chamber. Here are their stamped tickets at the end of the
day. Find the cost of each ride.

Mallory's ticket Meg's ticket

Answer;

=<

Topic: Graphing two variable, linear inequalities

Write an inequality to describe the given context. ﬁmp_h each inequality on the provided grid.
Then make a table thats nati il k for each sitnation.

9. Dion has enough money to buy up to
eight yogurts. His favorite flavors are
blueberry and strawberry.
Answer: b+s<8
blueberry = b and strawberry = s

Answers will vary. Possible answers:

O ol PN o [0 |1 | R3¢
= 03 LR L (G |t

10. Shaniqua is buying a balloon bouquet.
Her favorite colors are silver and purple.
The silver balloons cost $1.00 and the
purple balloons cost $0.80. How many of
each color of balloon can she putin her
bouquet if she doesn't spend more than :
$20 on her bouquet? Answers will vary. 1a

Possible answers:
A:w

© 2016 Mathematics Vision Project
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READY, SET, GO! Name Period Date

READY

Topic: Matching definitions of geometric figures,

Match the name of the figure with its geometric definition.

| a. isasceles triangle b. equilateral triangle | c. scalene triangle d. right triangle
1 & rectangle f, rhombus g. square h. trapezoid

1. _h A quadrilateral with only one pair of parallel sides.

2. 9B ___ Allof the sides of this triangle are the same length.

3. _f All of the sldes of this gquadrilateral are the same {ength,

4, _ ¢ This triangle has exactly one right angle.

5 .2 This quadrilateral has four right angles.

6. o None of the sides of this triangle are the same length.

7. _9 This quadrilateral is both #3 and #5.

8. __4@  Onlytwo sides of this triangle are the same length.

SET
Topic: Solving systems of equations by elimination

Solve each system of equations using elimination of a variable. Check your solution.

9 {2x+y=3 10 {2x+5y=.3
2x+2Zy=2 Check: x+5y =86 Check:
2(2)-1=3
. 3=3 .
Answer: 2(2) + 2(~1) = 2 Answer:
11 {2x+0.5y=3 12 {3x+5y=—1
2(.5)+.5(#) =3 Check:
. 3=3 .
Answer: 5 +2(4) =88 Answer;
(0.5.4) 8.5=85
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3x+5y=-—3 14. A 150-yard pipe is cut to provide drainage
13 X4 2y 5 . for two fields. if the length of one piece (@) is
3 Check: three yards less than twice the length of the

y: . _ second piece (b), what are the lengths of the two
3 (‘é‘) +5(=1)==3  preces?

Answer: ~3 = ~3 Check;
2 Answer:

2 2 =-2
G- 3 -3 watigpEg

4 4
3° 3

mjuiujaiagsinispuiapaks Fays

)

{.1‘) GO
) Topic: Identifying functions

(';') For each graph determine if the relationship represents a function. Explanations may
Q) If it is a function, write yes. Ifitis not a function, explain why it is not. vary.

O
)
)
L
)
)
)
[ " Answer: Yes, for every x
O thereisonly 1y.

O 18.
O

15.

17.

g g

- AR 2

R ]

IWEER. T NN E

Answer: Yes, for every
input has only one output.

PN IS, S S
LI T H P .,
CEE T R V., Y

O
)

Answer: Answar: Yes,atx=6,y=4and Answer:
£ then the second piece of the

co
=

function begins.
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READY, SET, GO

READY

C00000004

O Topic: System of inequalities
- For each of the systems of inequalities, determine if the given coordinates are solutions to the
B system. (Show your work.)

O _ .
— - 1
O 1'[.'!’SBJr 5 2. [y> 2x+9 5 y<-ix+9
yzx+2 y=5x—6 Uy > 6x—10
O
O AED
b, (L4
0 AT
O
SET
:‘; Topic: Determining the number of solutions in a system of equations
§ Write each equation in slope-intercept form. Based on slope-intercept form of the equations
]
O determine whether the system of equations has zero, one, or infinitely many solutions. How
' do yvou know?
)
O 4. 3x —4y =13 5 3x-3y=3 6. 05x ~y =130 7. 4x =2y = =2
O y=-3x-7 xX=y=1 0.5x — y = —30 3x+2y=-12
O 3 13
O y=zx—T y=x-1 ¥y=0.5x—30 y=2x+1
(*} b p e =By=7 ) -y =xewF - ] y= 0:5x + 30 |~ "y«;iﬂx&;é‘ e
~ 2
L
O How many solutions? } How many solutions? | How many solutions? | How many solutions?
. Answer: & Answer: Infinitely Many | Answer: W Answer: 1
[ B How do you know? How do you know? How do you know? How do you know?
& Answer: Answer: They are Ans Answer: They have
_h the same equation. . different slopes.
i Solve each system. Write your solution as an ordered pair or indicate if it has no solutions or
8 infinitely many solutions.
0
g x+4y=6 x+y=85 y=2x+1
o B’{x+y=3 % y=x—-4 10‘{2.1":---;)»'+1=0
:g Answer: . Answer: (3,-1) Answe‘
| §] & 2016 Mathematics Vision Project o
. All Rights Reserved for the Additions and Enhancements MV‘ _
€  mathematicsvisionproject.org M:mathematics
vision project
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SYSTEME =510
4y ~5x=9
1. {x ~4y =11

Answer: {-5,-4)

-3x+ 4y =12
14'{ Zx+y=-8

Answer: .)

y=x—1

Answer: gl i

15 [ 9x -3y =3
" {3x+8y=-17

Answer; (—-'%,-2)

{2y=x+2 {2y=2x—2
17. 1 _ 18. 1 ) S
-;x+y=1 —Ex+zy—1
Answer: Infinitely many Answer: ¢
20 {x+y=‘2x+s. 21 Sx=-y
"x+y=6y—9 “\Bx+2y =30
Answer:“ Answer: {-5,30)
© 2015 Mathematics Vision Project
All Rights Reserved for the Additions und Enhancemnents
mathematicevisionproject.org :

13, {-2x +5y=-1

3x+2y=11

Answer: (3,1)

16, [—7x+y= -2

7x=y=2=0

Answer: *

19.{—2y= 4x+2

Bx—4y=-—4

Answer: (—%,0)

22, {3x+3y= 9y — &

9x ~3y=3

Answer it

5.10
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4

GO
Topic: graphing two variable inequalities

Graph the following inequalities. Justify the region you shade by showing at least one pointin
the region as being a solution to each inequality.
23. 3x—4y 212 24, x+6y <6

I DV

"L

25. 6x+5y>1 - 26, x5y 23

i

Pl

© el e T bt e A A Tt ¢ r T het i e S et bt AT R s T AL KL ML L e nen (e g s vmat s e

27 On the same set of axes graph 28, On the same set of axes graph

y<x+Z2andy>x+5 Yy<x+2andy <x+5.

Do the solution sets of these two Do the solution sets of these two
inequalities share any paints? inequalities share any poing
Explain. g Explain. " "

Answer: Answer;

No, they

will never

cross and

they are

shaded

away from

each other.
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SECONDARY MATH1 // MODULE 5

SYSTEMS ~ 5.11H 5-11H

READY, SET, GO!

Name : Period . Date

READY

Topic: Solving Systems by Substitution and Elimination
Solve each system of equations using an algebraic method.

{3x—y=1 {x+2y=5 {4x+2y=-—8
1. 2, 3.

3x+2y=16 3x+5y=14 x=2y=-7
Answer: Answer; Answer;
(2,5) LY (-3,2)
; 2x+3y=2 : x+2y=11 ) 2x+y=0
C|3x-4y=-14 "~ x~4y=2 T |5x+3y=1
Answer: Answer: Answer:

“ o ('ﬁ.gi"""" R .
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SET

Topic: Row reduction in matrices.

7. Create a matrix to match each step in the solving of the system of equations given. Also, write a

description of what happened to the equation and the matrix between steps.

S

Given System

Step 1

Step 2

Step 3

Step 4

Step 5

tem of Equations
{Sx + 2y =40
x—T7y==2
W
{ 3x + 2y =40
-3x+21y=6
¥
{Sx + 2y = 40
O0x 4 23y = 46
v
[Bx +2y = 40
Ox+y=2
L 2
3x+0y =36
x+y=2
¥
{J.‘ +0y =12
Ox+y=2

@ 2014 Mathematics Vision Project

All Rights Reserved for the Addltions and Enhancements

mathematicsvisionproject.org

Description

[
—3R; = Ry

W -

Ansmr:
Ry + Ry - R,

Answer:
Ry — 2Ry = B4

W
Answer: [

1
"::iRl b 4 Rl

]

01

‘ l ‘mathematics
vision project

ary
' TY Y

Answer:
1 0 12

5.
&
4
L
e
|
[ |
Matrix |
2 |40 €
4 —2 :
<
40] Avsver: @
a ] A"
‘ .
| 40] Answer. ij_,_'
2 g
v |
A;sv;er:4o 4
| ] 01 2.8
v .
BE
o0 1 2
SR

2
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GO
Topic: Solving Systems of Equations by Graphing

Solve each system of equations by graphing.

(1,3)

wisfujafaislaielalofoRals

o {ywSx-B y=4x-1
 |y=-3x43 y=-x+4
Cy
O
8
(»

i3
LR
(>
)
O 10,
)

11. dx=y=7 (2,
Ix+2y=8

)

-
S

COCCo0Ce

-
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SYSTEMS - S.1H 5.12H

READY, SET, GO! Name Period : Date.

READY

Topic: Creating matrices for real life situations.

1. Inan earlier assignment you worked the following preblem:
"A theater wants to take in $2000 for a certain matinee. Children’s tickets cost $5 each and adult

tickets cost $10 each. If the theater has a maximum of 350 seats, write a system of equations that
can be solved to determine the number of both children and adult tickets the theater can seil.”
Setup a matrix thdt goes with the situation described above.

5 10 2000

Answer: 1 1 350

SET
Topic: Row reduction in matrices.

Assume that the matrices below represent linear systems of equations. Practice the strategy
you used for reducing a given matrix so that the left portion of the matrix {the 2 rows and

first 2 columns of entries) has ones on the diagonal. Write a description of what you did to

get from one matrix to another in each step of your sequence of matrices. Answers:

_ -3 1p-12
-3 1 [-12 z[1 ol 2

11 © —22 6 2
R1+3Rz"’R1 [1 0 SWEChRinﬂdRz. [; 1-6] Answer.( -6)

1
3R1 Rz - RZ [ “"‘ﬁﬂz - R

Answer:‘

& 2016 Mathematics Vision Project
All Rights Reserved for the Additions and Enlancements
mathematicsvisionproject.org

S, [10 -7 I—-la]_’ 2Ry =Rz~ 2 [g g|396] Ry +9-R; [g" ;E] Ry~R;— Ry lsl 23

Rl'i's—iﬂl 1 011
0 1la _ - Answer: (1, 4)
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GO
Topic: Selving Systems of Equatlons by Graphing

Solve each system of equations using a method of your choice.

x-y=l1
2x+y=19

Answen" Answer: (—1,—8)

8x+y=-16
«3x4 y =5

—4x+9y=9 -1x+y=-19
x=3y=-6 ~2x+3y=-19

Answer: » Answer: (2,—5)
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